
To be able to subtract decimals within 1 

 
 
 

 
 
 

 
 
 

 
 
 

To be able to subtract decimals within 1 

ones tenths hundredths thousandths 

 
 
 

 
 
 

Three tenths less than the number shown is  

If I subtract 7 thousandths from the number, I will have    

If I subtract 4 hundredths from the number, I will have    

To be able to subtract decimals within 1 

0.313 0.749 

To be able to subtract decimals within 1 

0.695 – 0.165 = 0.211 

0.795 – 0.265 = 0.211  

0.795 – 0.365 = 0.211  

0.795 – 0.745 = 0.211  

0.55 – 0.1 = 0.211 

0.55 – 0.09 = 0.211  

0.55 – 0.11 = 0.211  

0.55 – 0.44 = 0.211  

To be able to subtract decimals within 1 

0.54 – 0.3 = 

0.54 – 0.15 =  

0.54 – 0.18 = 

0.54 – 0.41 = 

To be able to subtract decimals within 1 

0.6 m 

0.6 m 0.1 m 



To be able to subtract decimals within 1 

0.56 − 0.2 = 0.54 


